BASIC PROPERTIES OF A CERTAIN GENERALIZED SEQUENCE OF NUMBERS

 $\mbox{A. F. HORADAM} \label{eq:horange} \mbox{The University of North Carolina, Chapel Hill, N. C.}$

1. INTRODUCTION

Let α , β be the roots of

(1.1)
$$x^2 - px + q = 0$$

where p, q are arbitrary integers. Usually, we think of α , β as being real, though this need not be so.

Write

$$d = (p^2 - 4q)^{1/2}.$$

Then

(1.3)
$$\alpha = (p + d)/2, \beta = (p - d)/2$$

so that

(1.4)
$$\alpha + \beta = p$$
, $\alpha\beta = q$, $\alpha - \beta = d$.

Recently [6], a certain generalized sequence $\{w_n\}$ was defined:

(1.5)
$$\left\{ w_{n} \right\} \equiv \left\{ w_{n} \text{ (a, b; p, q)} \right\} : w_{0} = a, w_{1} = b, w_{n} = pw_{n-1} - qw_{n-2} \text{ (n } \ge 2)$$

in which

$$(1.6) w_n = A\alpha^n + B\beta^n,$$

where

(1.7)
$$A = \frac{b - a\beta}{\alpha - \beta}, B = \frac{a\alpha - b}{\alpha - \beta}$$

whence

(1.8)
$$A + B = a$$
, $A - B = (2b - pa)d^{-1}$, $A B = e d^{-2}$

in which we have written

(1.9)
$$e = pab - qa^2 - b^2$$
.

Sequences like $\{w_n\}$ have been previously introduced by, for example, Bessel-Hagen [1] and Tagiuri [11], though in the available literature I cannot find evidence of much progress from the definition [11] to have discovered a few of the results listed hereunder.

The purpose of [6] was to determine a recurrence relation for the \mathbf{k}^{th} powers of \mathbf{w}_n (k an integer), that is, to obtain an explicit form for

$$w_k(x) = \sum_{n=0}^{\infty} w_n^k x^n$$
.

Here, we propose to examine some of the fundamental arithmetical properties of $\left\{w_n\right\}$. No attempt at all is made to analyze congruence or prime number features of $\left\{w_n\right\}$. In selecting properties to generalize we have been guided by those properties of the related sequences (see 2. below) which in the literature and from experience seem most basic. Naturally, the list could be extended as far as the reader's enthusiasm persists.

It is intended that this paper should be the first of a series investigating aspects of $\{w_n\}$. Organization of the material is as follows: in 2., various special (known) sequences related to $\{w_n\}$ are introduced, while in 3. some linear formulas involving $\{w_n\}$ are established, and in 4. some non-linear expressions are obtained. Finally, in 5., some comments on the degenerate case $p^2 = 4q$ are offered.

2. RELATED SEQUENCES

Particular cases of $\left\{w_n\right\}$ are the sequences $\left\{u_n\right\}$, $\left\{v_n\right\}$, $\left\{h_n\right\}$, $\left\{f_n\right\}$, $\left\{l_n\right\}$ given by:

(2.1)
$$w_n(1, p; p, q) = u_n(p, q)$$

(2.2)
$$w_n(2, p; p, q) = v_n(p, q)$$

(2.3)
$$w_n(r, r+s; 1, -1) = h_n(r, s)$$

(2.4)
$$u_n(1, -1; 1, -1) = f_n(= u_n(1, -1) = h_n(1, 0))$$

(2.5)
$$w_n(2, -1; 1, -1) = 1_n (= v_n(1, -1) = h_n(2, -1)).$$

Historical information about these second order recurrence sequences may be found in Dickson [3]. Of course, $\{f_n\}$ is the famous Fibonacci sequence, $\{l_n\}$ is the Lucas sequence, and $\{u_n\}$ and $\{v_n\}$ are generalizations of these, while $\{h_n\}$ discussed in [4] is a different generalization of them. Chief properties of $\{u_n\}$, $\{v_n\}$, $\{f_n\}$ and $\{l_n\}$ may be found in, for instance, Jarden [7], Lucas [8] and Tagiuri [10] and $[l\,l]$, those of f_n especially being featured in Subba Rao [9] and Vorob'ev [12] .

Two rather interesting specializations of (2.1) and (2.2) are the Fermat sequences $\{u_n(3, 2)\} = \{2^{n+1} - 1\}$ and $\{v_n(3, 2)\} = \{2^n + 1\}$, and the Pell sequences $\{u_n(2, -1)\}$ and $\{v_n(2, -1)\}$. (See [1] or [8]).

From (1.6), (1.7) and (2.1) - (2.5) it follows that

(2.6)
$$u_n = \frac{a^{n+1} - \beta^{n+1}}{d}$$

$$(2.7) v_n = \alpha^n + \beta^n$$

(2.8)
$$h_{n} = \frac{(r + s - r\beta_{1})\alpha_{1}^{n} - (r + s - r\alpha_{1})\beta_{1}^{n}}{\sqrt{5}}$$

(2.9)
$$f_n = \frac{\alpha_1^{n+1} - \beta_1^{n+1}}{\sqrt{5}}$$

(2.10)
$$1_{n} = \alpha_{1}^{n} + \beta_{1}^{n}$$

wherein

(2.11)
$$a_1 = \frac{1+\sqrt{5}}{2}, \ \beta_1 = \frac{1-\sqrt{5}}{2},$$

that is, α_l , β_l are the roots of

$$(2.12) x2 - x - 1 = 0.$$

Consequently, by (1.4)

(2.13)
$$a_1 + \beta_1 = 1, a_1\beta_1 = -1, a_1 - \beta_1 = 5.$$

To assist the reader, and as a source of ready reference, the full set of results for the five specializations of $\{w_n\}$ will often be written down, as in (2.6) - (2.10).

Obviously from (1.9), e characterizes the various sequences. For $\{u_n\}$, $\{v_n\}$, $\{h_n\}$, $\{f_n\}$, $\{l_n\}$ we derive e = -q, $p^2 - 4q$, $r^2 - rs - s^2$, 1, 5 respectively.

By (1.6), (1.7) and (2.6) we have

(2.14)
$$w_n = au_n + (b - pa) u_{n-1} = bu_{n-1} - qa u_{n-2}$$

with, in particular, the known [8] expressions

(2.15)
$$v_n = 2u_n - pu_{n-1} = pu_{n-1} - 2q u_{n-2}$$
.

(Ultimately, of course, these yield $l_n = 2f_n - f_{n-1} + 2f_{n-2}$.)

Putting n=0 in (2.14) requires the existence of values for negative subscripts, as yet not defined. Allowing unrestricted values of n therefore in (1.6) we obtain

(2.16)
$$\begin{cases} w_{-n} = A a^{-n} + B \beta^{-n} \\ = q^{-n} (au_n - bu_{n-1}) \end{cases}$$

after simplification using

(2.17)
$$u_{-n} = q^{-n+1} u_{n-2},$$

which follows from (2.6).

Combining (2.14) and (2.16) we have

(2.18)
$$w_{-n} = q^{-n} \frac{(au_n - bu_{n-1})}{au_n + (b - pa)u_{n-1}} w_n$$

whence it follows from (2.2) - (2.5) that

(2.19)
$$v_{-n} = q^n v_n$$

(2.20)
$$h_{-n} = (-1)^n \frac{\left\{r \left(u_n - u_{n-1}\right) - su_{n-1}\right\}}{ru_n + su_{n-1}} h_n$$

(2.21)
$$f_{-n} = (-1)^n f_{n-2}$$

In particular,

(2.23)
$$w_{-1} = A \alpha^{-1} + \beta^{-1} = \frac{pa - b}{q}$$

so that

$$u_{-1} = 0$$

(2.25)
$$v^{-1} = \underline{p}_{q}$$

$$(2.26)$$
 $h_{-1} = s$

$$f_{-1} = 0$$

$$(2.28) 1_{-1} = -1$$

Many of the simplest $\left\{w_n\right\}$ are expressible in terms of $\left\{f_n\right\}$. Besides (2.4) we have

(2.29)
$$w_n(-1, 1; -1, -1) = (-1)^{n-1} f_n$$

(2.30)
$$w_n (1, -1; 1, -1) = -f_{n-3}$$

(2.31)
$$w_n(1, 1; -1, -1) = (-1)^{n-1} f_{n-3}$$
.

More generally,

(2.32)
$$w_n$$
 (a, b; 1, -1) = $af_{n-2} + bf_{n-1}$

(2.33)
$$w_n (a, b; -1, -1) = (-1)^n \{af_{n-2} - bf_{n-1}\}$$

Notice that

(2.34)
$$w_n (a_1, b_1; p_1, q_1) = -w_n (a_2, b_2; p_2, q_2)$$

 $a_2 = -a_1, b_2 = -b_1, p_2 = p_1, q_2 = q_1.$

Some sequences are cyclic. Examples are

(2.35)
$$w_n$$
 (a, b; -1, 1)

for which α , β (= α^2) are the complex cube roots of 1 and

(2.36)
$$w_n$$
 (a, b; 1, 1)

for which α , β (= α^2) are the complex cube roots of -1. Sequence (2.35) is cyclic of order 3 (with terms a, b, -a - b) since $\alpha^{3n} = \beta^{3n} = 1$, while sequence (2.36) is cyclic of order 6 (with terms a, b, -a + b, -a, -b, a - b) since $\alpha^{3n} = \beta^{3n} = -1$, so $\alpha^{6n} = \beta^{6n} = 1$ (n odd in this case). (Refer (1.6)).

Geometric-type sequences arise when p=0 (so that by (1.5) $w_{n+1}=-qw_{n-1}$) and q=0 (so that $w_{n+1}=pw_n$).

3. LINEAR PROPERTIES

From (1.5) and (1.6) it follows that

$$\frac{\mathbf{w}_{\mathbf{n}}}{\mathbf{w}_{\mathbf{n}-1}} \rightarrow \begin{cases} \mathbf{a} & \mathbf{w}_{\mathbf{n}} \\ \mathbf{\beta}, & \mathbf{w}_{\mathbf{n}-k} \end{cases} \rightarrow \begin{cases} \mathbf{a}^{\mathbf{k}} & \text{if } -1 \leq \mathbf{\beta} \leq 1, \\ \mathbf{\beta}^{\mathbf{k}} & \text{if } -1 \leq \mathbf{a} \leq 1, \end{cases}$$

(3.2)
$$w_{n+2} - (p^2 - q) w_n + pq w_{n-1} = 0$$
,

and

(3.3)
$$pw_{n+2} - (p^2 - q) w_{n+1} + q^2 w_{n-1} = 0.$$

Repeated use of $qw_{k-1} = -w_{k+1} + pw_{,}$ (k = 1, ..., n) leads to the sum of the first n terms

(3.4)
$$q \sum_{j=0}^{n-1} w_j = (p-1) (w_2 + w_3 + \dots + w_n) - w_{n+1} + pw_1$$

whence

(3.5)
$$(p-q-1)$$
 $\sum_{j=0}^{n-1} w_j = w_{n+1} - w_1 - (p-1) (w_n - w_0)$

while the corresponding results for differences are

(3.6)
$$q \sum_{j=0}^{n-1} (-1)^j w_j = (p+1) (-w_2 + w_3 - \dots + (-1)^{n-1} w_n) + (-1)^n w_{n+1} + pw_1$$
and

and
$$(p-q+1)\sum_{j=0}^{n-1} (-1)^j w_j$$
(3.7)

=
$$(-1)^{n+1}$$
 $w_{n+1} + w_1 - (p+1) \{ (-1)^{n+1} w_n + w_0 \}$.

Replace n by 2n in (3.4), (3.5) (3.6) and (3.7). Write

(3.8)
$$\sigma = w_0 + w_2 + ... + w_{2n-2}$$
,

and

(3.9)
$$\rho = w_1 + w_3 + \dots + w_{2n-1} .$$

Adding and subtracting (3.4), (3.6) give

(3.10)
$$(1 + q) \sigma = p \rho - (w_{2n} - w_0)$$

and

(3.11)
$$(1 + q) \rho = p \sigma +q(w_{2n-1} - w_{-1})$$

for the sum of the even - (odd -) indexed terms of $\{w_n\}$. Clearly by (1.5) addition of (3.10) and (3.11) yields the sum of the first 2n terms (3.4) as expected. Solve (3.10) and (3.11) so that

(3.12)
$$\left\{p^2 - (1+q)^2\right\} \sigma = (1+q)(w_{2n} - w_0) - pq (w_{2n-1} - w_{-1})$$

and

$$(3.13) \quad \left\{ p^2 - (1+q)^2 \right\} \; \rho \; = \; p \; (w_{2n} - w_0) \; - \; q(1+q)(w_{2n-1} - w_{-1}) \; \; .$$

Using the alternative expression $w_n = bu_{n-1} - qau_{n-2}$ (2.14), we have

$$\begin{cases} w_{n+1} = w_1 u_n - q w_0 u_{n-1} \\ w_{n+2} = w_2 u_n - q w_1 u_{n-1} \\ w_{n+3} = w_3 u_n - q w_2 u_{n-1} \end{cases}$$

whence

(3.14)
$$\begin{cases} w_{n+r} = w_r u_n - q w_{r-1} u_{n-1} \\ = w_n u_r - q w_{n-1} u_{r-1} \end{cases}$$

on interchanging n and r. Equations (3.14) may also be obtained from (1.5), (2.1) and (2.14). Of course

(3.15)
$$\begin{cases} w_{n+r} = w_{r-j} u_{n+j} - q w_{r-j-1} u_{n+j-1} \\ = w_{n+j} u_{r-j} - q w_{n+j-1} u_{r-j-1} \end{cases}$$

also.

Further, from (1.6) and (2.7) it follows that

$$\frac{\mathbf{w_{n+r}} + \mathbf{q^r} \mathbf{w_{n-r}}}{\mathbf{w_n}} = \mathbf{v_r}$$

that is, the expression on the left is independent of a, b, n. Interchange r and n in (3.16) and then set r = 0. Accordingly,

(3.17)
$$w_n + q^n w_{-n} = a v_n$$
.

Observe also from (1.6) and (2.6) that

(3.18)
$$\frac{w_{n+r} - q^r w_{n-r}}{w_{n+s} - q^s w_{n-s}} = \frac{u_{r-1}}{u_{s-1}}$$

which [10] is an integer provided s divides r.

Two binomial results of interest may be noted. Firstly, from (1.6) it follows that

(3.19)
$$w_{2n} = (-q)^n \sum_{j=0}^n {n \choose j} (-\frac{p}{q})^{n-j} w_{n-j}$$

where we have used the fact α^2 - $p\alpha + q = 0$, β^2 - $p\beta + q = 0$.

Starting from (1.3) and (1.6), we readily derive

$$2^{n}w_{n} = A(p + d)^{n} + B(p - d)^{n}$$
.

(3.20)
$$2^{n} w_{n} = a \sum_{j=0}^{\lfloor n/2 \rfloor} p^{n-2j} d^{2j} {n \choose 2j} \qquad \qquad [\underline{n-1}] + (2b - pa) \sum_{j=0}^{n} {n \choose 2j+1} p^{n-2j-1} d^{2}j$$

whence follow the known [1] expressions

(3.21)
$$2^{n} u_{n} = \sum_{j=0}^{\lfloor n/2 \rfloor} {n+1 \choose 2j+1} p^{n-2j} d^{2j}$$

(3.22)
$$2^{n-1} v_n = \sum_{j=0}^{\lfloor n/2 \rfloor} {n \choose 2j} \quad p^{n-2j} d^{2j}$$

(3.23)
$$2^{n} f_{n} = \sum_{j=0}^{\lfloor n/2 \rfloor} {n+1 \choose 2j+1} 5^{j}$$

(3.24)
$$2^{n-1} 1_n = \sum_{j=0}^{\lfloor n/2 \rfloor} {n \choose 2j} 5^j .$$

Suitable substitutions in the above results lead to the special cases for $\{u_n\}$, $\{v_n\}$, $\{h_n\}$, $\{f_n\}$ and $\{l_n\}$; for example, for $\{f_n\}$, in (3.4) $\sigma + \rho = f_{2n+1} - 1,$

and in (3.14) with r = n,

$$f_n^2 + f_{n-1}^2 = f_{2n} = \sum_{k=0}^{n} {n \choose k} f_{n-k},$$

using (3.19).

If we write

$$\frac{\mathbf{w}_{\mathbf{n}}}{\mathbf{w}_{\mathbf{n}+1}} = \mathbf{r}_{\mathbf{n}}$$

so that, by (1.5),

(3.26)
$$r_n = \frac{1}{p - q r_{n-1}}, r_{n-1} = \frac{1}{p - q r_{n-2}}, \dots$$

enabling us to express the limit of the ratio as a continued fraction. Sometimes, when q = -1, it is notationally convenient to write

(3.27)
$$\begin{cases} a_0 = e^{\eta_0} = \sinh \dot{\eta}_0 + \cosh \eta_0 \\ \beta_0 = -e^{-\eta_0} = \sinh \eta_0 - \cosh \eta_0 \end{cases}$$

where (1.2)

(3.28)
$$\cosh \eta_{o} = \frac{d}{2}o, \sinh \eta_{o} = \frac{p}{2}, \tanh \eta_{o} = p d_{o}^{-1}.$$

Zero suffices signify that q = -1.

Combining this hyperbolic notation with the remarks immediately preceding (3.27), and proceeding to the limit (refer (3.1)), we see that for p=1, q=-1, that is, for h_n (and its specializations f_n , h_n),

$$\frac{h_{n}}{h_{n+1}} \longrightarrow \frac{1}{\alpha_{1}} = e^{-\eta_{1}}$$

$$= \cosh \eta_{1} - \sinh \eta_{1}$$

$$= \frac{1}{1 + \frac{$$

(observe that by (2.12) $\frac{1}{\alpha_1} = g$ is a root of $x^2 + x - 1 = 0$ so that $g = \frac{1}{1+g}$, leading to the continued fraction.)

Furthermore, (3.27) and (3.28), with (1.5), imply

(3.30)
$$w_{o,n} = (A_o + (-1)^n B_o) \sinh n \eta_o + (A_o - (-1)^n B_o) \cosh n \eta_o$$

Hyperbolic expressions for the specialized sequences are then, from (2.6), (2.7), (2.9), (2.10),

(3.31)
$$\begin{cases} u_n = \frac{\sinh (n+1) \eta_0}{\cosh 0} & (n \text{ odd}) \\ = \frac{\cosh (n+1) \eta_0}{\cosh 0} & (n \text{ even}) \end{cases}$$

(3.32)
$$\begin{cases} v_n = 2 \sinh n & \eta_0 & (n \text{ even}) \\ = 2 \cosh n & \eta_0 & (n \text{ odd}) \end{cases}$$

with corresponding expressions for f_n , l_n respectively, in which η_o is replaced by η_l . A hyperbolic expression for h_n is given in [5].

4. NON-LINEAR PROPERTIES

Essentially, the problem in obtaining non-linear formulas (as in the linear case) is to detect the appropriate coefficients (functions of p, q) of \mathbf{w}_n^k . Basic non-linear (quadratic) results have already been recorded in [6], namely:

(4.1)
$$aw_{m+n} + (b-pa) w_{m+n-1} = w_m w_n - qw_{m-1} w_{n-1}$$
,

(4.2)
$$aw_{2n} + (b-pa) w_{2n-1} = w_n^2 - qw_{n-1}^2 = w_{n+1} w_{n-1} - qw_n w_{n-2}$$
,

(4.3)
$$w_{n+1} w_{n-1} - w_n^2 = q^{n-1} e$$
.

Obviously, from (4.3) with n = 0,

(4.4)
$$e = q (w_1 w_{-1} - w_0^2)$$

which may be compared with (1.9), using (1.5) and (2.23).

An extension of (4.3) is, by (1.6) and (2.6),

(4.5)
$$w_{n+r} w_{n-r} - w_n^2 = e q^{n-r} u_{r-1}^2$$
.

Putting r = n in (4.5), we have

(4.6)
$$w_n^2 + e u_{n-1}^2 = a w_{2n}$$
.

Interchange r and n in (4.5), then suppose r = 0. We deduce

(4.7)
$$w_n w_{-n} = a^2 + e q^{-n} u_{n-1}^2$$
.

(n = 1 reduces (4.7) to (4.4).)

Specializations of (4.1) are, on multiplication by 2 and use of (1.2), (1.4), (2.6), (2.7) and (2.15), the known [8] results

Oct.

(4.8)
$$2 u_{m+n-1} = u_{m-1} v_n + u_{n-1} v_m$$

and

(4.9)
$$2 v_{m+n} = v_m v_n + d^2 u_{m-1} u_{n-1} .$$

Next, by (4.6), we derive, using (2.6), (2.7), (1.2) and (1.4),

$$u_{2n-1} = u_{n-1} v_n$$

and

(4.11)
$$2 v_{2n} = v_n^2 + d^2 u_{n-1}^2$$

with

(4.12)
$$v_{2n} = v_n^2 - 2q^n = d^2 u_{n-1}^2 + 2q^n$$
.

Again, (4.1) with m=2n gives an expression for w_{3n} from which we deduce, by (4.10), (2.6), (2.7) and the recurrence relation for v_{3n} ,

(4.13)
$$\frac{u_{3n-1}}{u_{n-1}} = v_n^2 - q^n$$

and

(4.14)
$$\frac{v_{3n}}{v_n} = v_n^2 - 3q^n.$$

Results (4.10) - (4.14) occur in Lucas [8] in a slightly adjusted notation.

Coming now to the sum of the first n terms, we use the first half of (4.2).

Write

(4.15)
$$r = \sum_{j=0}^{n-1} w_j^2 .$$

Then, it follows that

(4.16)
$$(1-q) r = a\sigma + (b-pa)\rho - \left\{qw_{n-1}^2 + (b-pa) w_{2n-1}\right\}$$

whence r may be found from (3.12) and (3.13).

Repeating the first half of (4.2) leads to

(4.17)
$$w_{n+1}^2 - q^2 w_{n-1}^2 = b w_{2n+1}^2 + (b - pa) q w_{2n-1}^2$$

From (1.6), (1.8) and (2.6),

(4.18)
$$w_{n-r} w_{n+r+t} - w_n w_{n+t} = q^{n-r} e u_{r-1} u_{r+t-1}$$

whence t = 0 gives (4.5).

Replacing w_n by u_n in (3.14) and (3.15) (with -j substituted for j) yields

(4.19)
$$u_{n+r} = u_n u_r - q u_{n-1} u_{r-1} = u_{n-j} u_{r+j} - q u_{n-j-1} u_{r+j-1}$$

whence

whence
$$\begin{pmatrix}
 u_n u_r - u_{n-j} u_{r+j} = q (u_{n-1} u_{r-1} - u_{n-j-1} u_{r+j-1}) \\
 = q^{n-j} (u_j u_{r-n+j} - u_{r-n+2j}) \\
 = q^{n-j+1} u_{j-1} u_{r-n+j-1}$$

by repeated application of (4.19) and replacement in the first half of (4.19) of n by r-n+j and r by j to obtain an expression for u_{r-n+2j} ($u_0 = 1$). Note that (4.20) is the special case of (4.18) for which $w_n = u_n$ so that e = -q (n, r, j in (4.20) replaced by n - r, n + r + t, respectively and (2.17) used).

In particular, it follows from (4.20) with j = 1 that

$$u_{n-1} u_{r-2} - u_{n-2} u_{r-1} = q^{n-1} u_{r-n-1} .$$

Moreover, (4.21) and $w_n = b u_{n-1} - q a u_{n-2}$ give for the sequences $\{w_n\}$ and $\{w_n'\}$

(4.22)
$$w'_n w_r - w_n w'_r = q (a' b - a b')(u_{n-1} u_{r-2} - u_{n-2} u_{r-1})$$

= $q^n (a'b - a b') u_{r-n-1}$

Cubic expressions in w_n are generally quite complicated, so we derive only the sum of the first n cubes. Cube both sides of (1.5) and then use (1.5) again. Thus

Oct.

(4.23)
$$w_{n+1}^3 = p^3 w_n^3 - q^3 w_{n-1}^3 - 3 pq w_{n-1} w_n w_{n+1}$$

But, from (4.3),

(4.24)
$$w_{n-1} w_n w_{n+1} = w_n^3 + q^{n-1} e w_n$$
,

so that from (4.23) and (4.24) it follows that

(4.25)
$$w_{n+1}^3 + (3 pq - p^3) w_n^3 + q^3 w_{n-1}^3 = -3 pq^n e w_n$$
.

Now a calculation involving (1.6) and the summation of geometric series leads to

$$(4.26) \sum_{j=1}^{n-1} q^j w_j = \frac{q}{1 - pq + q^3} \{ w_1 - q^2 w_0 - q^{n-1} (w_n - q^2 w_{n-1}) \}.$$

Write

(4.27)
$$\omega = \sum_{j=0}^{n-1} w_j^3.$$

Combining (4.25), (4.26) and (4.27), we find

$$(4.28) \quad (1+3pq-p^3+q^3) \omega = \frac{-3pqe}{1-pq+q^3} \left\{ w_1 - q^2 w_0 - q^{n-1} (w_n \ q^2 w_{n-1}) \right\}$$

$$+q^3 w_{n-1}^3 - w_n^3 + (1+3pq-p^3) w_0^3$$

Appropriate substitution in the above formulas of 4. lead to corresponding results for the special sequences (2.1) - (2.5). For instance, applying (4.16) and (4.28) to $\{f_n\}$, we have $r = \frac{1}{2} \{f_{2n-1} - f_{n-1}^2\}$,

$$\omega = \frac{1}{4} \left\{ f_{n-1}^3 + f_n^3 + 3(-1)^{n-1} f_{n-2} + 2 \right\}$$

respectively.

5. DEGENERATE CASE

Throughout the analysis of the nature of $\{w_n\}$, the hypothesis that $p^2 \ddagger 4_q$ has been assumed. But suppose now that $p^2 = 4q$. The

simplest degenerate case occurs when p=2, q=1 ($\alpha=\beta=1$) for which exists the trivial sequence ($n\geq 0$)

(5.1)
$$v_n(2, 1) : 2, 2, 2, 2, \ldots$$

and the sequence of natural numbers (n \geqslant 0)

$$(5.2)$$
 $u_n(2, 1) : 1, 2, 3, 4, 5, ...,$

that is, $u_n = n+1$ and $v_n = 2$. For negative n, (2.19) implies $v_{-n} = v_n$, that is, every element of $\{u_n(2,1)\}$ is 2, while (2.17) implies $u_{-n} = -u_{n-2}$, that is, like elements of $\{u_n(2,1)\}$ are the positive and negative integers in order.

Generally, in the degenerate case,

$$\alpha = \beta = \frac{p}{2} .$$

The main features of the degenerate case, as they apply to $\left\{u_n\right\}$ and $\left\{v_n\right\}$ are discussed in Carlitz [2], with acknowledgement to Riordan. Brief comments, as they relate to $\left\{w_n\right\}$, are made in [6]. In passing, we note that Carlitz [2] has established the interesting relationship between degenerate

$$\{u_n (p, \frac{p^2}{4})\}$$

and the Eulerian polynomial $\boldsymbol{A}_{k}(\!\boldsymbol{x}\!)$ which satisfies the differential equation

$$A_{n+1}(x) = (1 + nx) A_n(x) + x(1 - x) \frac{d}{dx} A_n(x)$$

where $A_0(x) = A_1(x) = 1$, $A_2(x) = 1+x$, $A_3(x) = 1 + 4x + x^2$.

Finally, it must be emphasized that $\{h_n\}$ and its specializations $\{f_n\}$ and $\{l_n\}$ can have no such degenerate cases, because p^2 - 4q then equals 5 (\ddagger 0).

REFERENCES

1. Bessel-Hagen, E., "Repertorium der höheren Mathematic," Leipzig, 1929, p. 1563.

- 2. Carlitz, L., "Generating functions for powers of certain sequences of numbers," Duke Math. J., Vol. 29, 1962, pp. 521-537.
- 3. Dickson, L., "History of the theory of numbers," Vol. 1, New York, 1952, Chapter 17.
- 4. Horadam, A. F., "A generalized Fibonacci sequence," Amer. Math. Month., Vol. 68, No. 5, 1961, pp. 455-459.
- 5. Horadam, A. F., "Fibonacci number triples," Amer. Math. Monthly, Vol. 68, No. 8, 1961, pp. 751-753.
- 6. Horadam, A. F., "Generating functions for powers of a certain generalized sequence of numbers," (to appear in Duke Math. J.).
- 7. Jarden, D., "Recurring sequences," Riveon Lematematika, Jerusalem, 1958.
- 8. Lucas, E., "Théorie des nombres," Paris, 1961, Chapter 18.
- 9. Subba Rao, K., "Some properties of Fibonacci numbers," Amer. Math. Month., Vol. 60, No. 10, 1953, pp. 680-684.
- 10. Tagiuri, A., "Recurrence sequences of positive integral terms," (Italian), Period. di Mat., serie 2, Vol. 3, 1901, pp. 1-12.
- 11. Tagiuri, A., "Sequences of positive integers," (Italian), ibid. pp. 97-114.
- 12. Vorob'ev, N. N., "The Fibonacci numbers," (translated from the Russian), New York, 1961.

A. F. Horadam University of New England, Armidale, Australia.

REQUEST

The Fibonacci Bibliographical Research Center desires that any reader finding a Fibonacci reference, send a card giving the reference and a brief description of the contents. Please forward all such information to:

Fibonacci Bibliographical Research Center,
Mathematics Department,
San Jose State College,
San Jose, California